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Answer The Following Qgeqqons :-

Suestion irlo. [1] : ( 15 Marks)

l. A person invested a sum of 5000 L.E. now, 2000 L.E after two years, and 4000

L.E after 5 years. If rate of compound interest of 12 oh annually: how much

should he earn at the end of the seventh year.

2. The following data is available for equipment being used.in a rnachine shop:-

-  In i t ia l  cost  o f  machine . . . . . . . . . , . . . . . . . :14000 L.E

- Technical life ... - 6 Years

- Installation cost "
- Eccrnomical iife . ..... 3 4 years

- Salvage I'alue .. :4000 L.E

B.p,quirq4:

a- [Jse the straight line method,and declining balance rnethod to calculate the

annual depreciation charge , and the book value at the end of each year.

h- Compare between the results after two years from the beginning of its life.

c- If the salvage value of the above equipment is equal to zero. Can you apply

the declining balance method to compute the depreciation charge in this

case? Clarifv"

Ouestioq-l$o.[&L

You are given ttne follo-v'rlng clata for a factery:-

- producect quan{-ilry {outPtrt)

- Variable cost per unlt

- trifu;ecl costs

- Selling price per unit -., 
= 20 L.tr

Draw a br-eak -even chart showing the break- even point. If the selling price per unit is

retluced to 18 L.E, what'will be the new break-even pc.int?

( L0 Marks)

:1S0000 units

: L0 L.E

: 5S{}S00 L.E



( rc narKs\

Assume a project completion time of twenty-three days at'teg the project begins'

From the above data' perform the following:

a .
b .

Draw the PERT network, labeling activities, and compute ES; EF, Ls, and LF'

Determine the cdtical path as well as the total slack and free slack'

( to t'ta,rKs)
dwasilon Na-VJ,

Deterrrine the transportation schedule for the data given in the table:

l- Using Vogll's approxirnation method- 
'' 

--,-^,ine stone method'
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